                                                                                                            Name: ____________


Lab 7
Decimals

Equipment: Graph paper, Dienes blocks
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    a) If a flat represents 1 unit of volume, then a long will represent 0.1; 

        (why? ______________________________________________ ) 

        a small cube will represent _______; a block will represent _______;

        and 2 blocks, 2 flats, and 4 small cubes together represent ________.

    b) If a block represents 1, then 3 blocks, 4 flats, 5 longs and 6 small cubes 

        together will represent ____________.

    c) If a block represents 1, how would you represent 0.1? ________;

        0.04? __________________; 0.007? __________________________;

        0.302? _________________; 3.14? ___________________________.

    d) Use the following grids to represent the decimals:
         i) 0.265                                                           ii) 0.3

            






           


            Using the graphical representations, which one visually appears larger? 

__________. Is that decimal really larger than the other? _______

           Explain why the names (i.e. “one hundred ninety five thousandths” vs. three tenths”) may make 0.195 sound bigger.



1. In every part of this question, use the block as a unit.
        i) Use Dienes blocks to perform 0.375 + 0.086. Record your procedure and answer.
 









               Answer: __________________

       ii) Use Dienes blocks to perform  3 × 0.08 . Record your procedure and answer.  
            (hint: use repeated addition). 









                Answer: __________________


        iii) Use Dienes blocks to perform 0.12 ÷ 4. Record your procedure and answer 
            (hint: use partition approach).












                Answer: _____________________

On the graph paper below suppose that the square surrounded by thick lines is of dimension 1 by 1 and hence also of area one (i.e. a unit square).
a) What is the area of each small square (as a decimal)? _______

b) What are the length and width of the shaded rectangle (as

 decimals)? ___________

c) There are _______ small squares in the shaded rectangle.

d) What is 0.3 × 0.7? ________

e) Is you answer above smaller than both factors (i.e. 0.3 and 0.7)? _________

    If we multiply positive whole numbers, say 4 × 6, is the answer bigger than or at

    least equal to any of the factors? ____________


2. On your graph paper, solve the following multiplication problems by drawing suitable area models and counting small squares. 

a) 0.5 × 0.8 = __________












b) 0.6 × 1.2 = __________














c) 0.4 × 1.6 = __________



4.  Division of decimals by missing factor approach. 
     (This approach is the best when the divisor is bigger than the dividend.)
To solve the problem 0.42 ÷ 0.7, we can draw a rectangle with height equal to 7 small squares on a piece of graph paper. The width of the rectangle will then be increased (starting from 1) one column at a time until the total number of small squares included in the rectangle is 42.

What is the width of the rectangle?           

What is the answer to 0.42 ÷ 0.7?










3. Use a similar method (see ex.4) to solve the following. Please include your graph paper.

a) 0.72 ÷ 0.8 
    











What is the height of your rectangle? ___________

What is the width of your rectangle? ___________

What is the answer to 0.72 ÷ 0.8? ______________







b) 0.91 ÷ 1.3     























What is the height of your rectangle? ___________

What is the width of your rectangle? ___________

What is the answer to 0.91 ÷ 1.3? ______________


6. When we divide a whole number by another whole number, is the answer always less  
     than or equal to the dividend? ____________

     Is the same true for division of a decimal by another decimal? _______ Can you give 

     an example to illustrate your point? ____________________________________.























